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[1] EEAXDEE) ROFEEZ LRI,
(1) (6x—2y)—(x—7y) (2) 2(3x—y)+4(—x+2y)
=6x—x—-2y+7y =6x—4x—-2y+8y
=5x+5y =2x+6y

[2] kOEHHREZ Lasuy,

(1) 7xy><(—2y) = 7><(—2)><x><y><y (2) (—2a)><(—4bc) = (—2)><(—4)xaxb><c
=—14x)° =8abc
2 o 1 ) 5 ) 4
(3) 122 + 63 =122 x - 4) 154 b+(——bj:15a bx(——j
o 4 3 o 1
_fgi%if _Nx (4 xaxaxh
6xX Sk
11 11
=2x =-12a’

[3] kOEHHRAZ LS uy,

3xx2xy 20a’h’
1) 3xx2xy+6y = 2)20a’bh* +(=5b)+2ab=———
V) YT (200" +(=5b)+2ab=— "0
1 1 1 2 1 1 1
CSXRX XXX XK _ 20 xwx axkhx®
S 8xX (25) x2xwxhxR
1 1 1 1 1 1 1
=x° =-2a
[4] x=-3, y=50, %, ROKXDEZRDRI W,
2
(1) 3(5x+y) - 4(2x +3y) (2) 63" +3ay % 5x = 6xy3_5x
=15x—8x+3y—12y , 1
=7x-9y :KXSXXxxxyxy
XXX R
1 1 1
=10xy
Tx =9y ITEZRA LT,
7x(=3) =9 x5 =66 10xy (ZEAZRALT,
10 x (=3) x 5=—-150
BEA —66 K2 —150
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